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Introduction

the word ‘percent’ is abbreviated form of
the Latin word per centum which means
‘per hundred’ or ‘hundredths. Thus, the
term percent means per hundred or for
every hundred. The symbol ‘%’ is used for
the term precent. Thus ‘48 percent’ is
written as ‘48%'’ and it means that 48 out of

100"

Conversion of precent
0.01=1/100=1%
0.1=1/10=10%
02=1/5=20%

0.25 =% =25%
0.5=%=50%

0.75 =3%=75%

1) Conversion of Percent into fraction
To convert a percent into fraction,

divide it by 100 and remove the ‘%’ sign.

O B
a% 100
57
g, 7% =—
eg S7% 100
2
0
2% 100

Note: percent is a fraction with
denominator 100 and the numerator of
this fraction is called the RATE
PERCENT.

2) Conversion of Fraction into Percent
To convert any fraction to percent,
multiply it by 100 and put the percent
sign (%)

g:(gxwo)%

(Fraction) (Percent)

2= (1—9[;;»( 100)%:90%

10
3

12 = (£x100)%=115%
3) Conversion of percent into Ratio
To convert the percent into ratio, first
change it to fraction by dividing it by
100 and remove the ‘%’ percent sign.
Finally reduce the obtained fraction in
the simplest form.
25 _ 1

e.g, 25% = -=1:4

100 4

== =1:250

100 1000 250

0.4% =

4) Conversion of Ration into Percent

a:b=§=(§x100)%

eg 3:8=2=(2x100)%=371%

8

5) Conversion of Percent into Decimal H
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To convert the percent to decimal, first
change it to fraction by dividing it by
100 and remove the % sign. Then put

the decimal point accordingly.

a%= 1‘:70 = 0.0a
12
eg 12%= = 0.12
3549% = 3—54— =3.54
E% v 0.004

6) Conversion of Decimal into Percent

To convert decimal into percent, first
change it to fraction for the removal of
decimal and then multiply it by 100 and

put the % sign.

eg 23=2=(£x100)%=230%
45
0045—m=( % 100)%:4.5%
2357
2357 =2 =( 100) 0% =
2357%

Finding a Percentage of a Given Number
To find the percentage of a given number,
multiply the number n=by the required
percent.

Let the number = x

Required percent = p%

IV.

Percentage of given number = p% of x

L xXx
100

Finding the original number from
percent

Let original number = x

Required percent = p%

Obtained percentage =y

Now pYofx=y

[ —
EXx—y
X=2X100
P

obtained percentage

X100

Number =
percent

Two different percentages of a number

Let P1% ofx=Y:

(Where x is given number)

And Po%ofx=Y2.oiiireeenen

)
. (i)
=Y2

Adding (i) and (ii)

100

X =

—xx=Y1+Y:

+
Y112 + 100
Py+P,

Similarly subtracting (i) and (ii)
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2)

3)

4)

5)

VL

Py=Py

_IEE_>{X ==Y2-'Yﬁ
x:%xwo
2—r1

Finding how much percent one quantity is
of another quantity

To find what percent of one quantity is of
the other quantity if two quantities are
given, we proceed as :

Leta and b are two quantities and we want
to know ‘what percent of a is b?’

Let x% ofais equal to b

Some important points:

To convert a fraction into a percent we
multiply the fraction by 100.

To convert a ratio into a percent, we write it
as a fraction and multiply it by 100

To converta decimal into a percent, we shift
the decimal point two places to the right
To convert a percent into a fraction, we
remove the percent sign (%) and divide it
by 100

To converta percent into a ratio, we remove

the percent sign (%) and form shift a ratio

6)

7)

8)

9)

with the remaining number as the first term
and 100 as the second term.

To convert a percent into a decimal, we
remove the percent sign (%) and shift the
decimal points two places to the left.

To express x as a percentage of y
Percentage = i x 100%

If x% of a quantity is y, then
Whole quantity =~ X 100
Percentage increase

m (increase in quantity

x 100) %

original quantity

10) Percentage Decrease

(decrease in quantity x 100) o
0

original quantity

11) If a quantity increases by r%, then

New quantity = original quantity +
increase in quantity

= original quantity + r% of original
quantity

= original quantity + ﬁ of original
quantity

=1+ ;E of original quantity

100+r
100

New quantity = ( ) X original quantity

12) If a quantity decreases by r%, then

New quantity = original quantity +

increase in quantity
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= original quantity - r% of original
quantity

= original quantity - ;E of original quantity

=1- ﬁ of original quantity

New quantity = (122:‘) X original quantity

13) If a population of a city increases by r% per

annum, then the population after 'n’ years
T L = s .
= (1 + —) of the original population
100
population after ‘n’ years

== (1 + ;E) X original population

original population

Population ‘n’ years ago =

14) If a number x is r% more than y, then

100+7r

Y is less thanxby( X 100) %

15) Ifa number x is r% less than y, then
Y is more than x by (m;—_r X 100) %

16) If the price of commodity increases by r%,
then

Reduction in consumption, not to increase

the expenditure

= (10;+r % 100) %

17) Ifthe price of a commodity decreases by r%,
then
Increase in consumption, not to increase

the expenditure

- (10;—1- X 100) "

18) If a quantity is increased or decreased by
x% and another quantity is increased or
decreases by y%, the percent % change on

the product of both the quantity is given by

Required % change = (x +3rF %%)

Note : for increasing use (+) we sign and for

decreasing use (-) we sign

1) Express the following in terms of fraction
2
(i) 15% (ii) % % (iii) 0.3%
H

age |
A
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3) 2=179%
&) Fad a) 20 b) 40
(1) 25% of 852 ¢) 100 d) 120
(i) 2.5% of 18.2gram
() EYeoly 4) 37.5% of 680 is
a) 300 b) 255
3) What percent of ) 245 d) 235
(i) 120is15?
(if) 6.251s 1.25 5) 75% of what area is 15 squares meter?
(iii) Rs. 180.50 is Rs. 36.10? 5) ‘10m? b) 15m?
(iv) 1975 litres are 39.50 litres? ¢} 20m dy 25m?
&) (Ve Ry § 6) The number 0.05 is what percent of 20%?
(i) 5% of anumber 15 a) 0.25% b) 0.30%
(ii) 35% of a number 7 Q) 30% d) 40%
(iii) 8 ; % of a number is 150
7) - What percent of 3 meters is 75cm?
. - . a) 10% b) 15%
Percentage base Simplification O 20% d) 25%
1) 5% of a number is 15. The number is
0 = 14 0 = .
a) 150 b) 200 8) If65% of x - 37 %2 % of x = 44.55. the value
of xis
c) 250 d) 300 a) 160 b) 162
c) 164 d) 158
2) 63%of32is
’ 9) 45% of? 4+ 30% 0of 90 = 30% of 210
a) 2.25 b) 2.40 2) 120 b) 80
c) 2.50 d) 12.75
c) 60 d) 90
Hage |
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10) 4ot 7=20%nl 4515 Statement Base Questions
a) 4.55 b) 3.735
&) 0.25 d) 0.5 1) Half of 1 per cent, written as a decimal, is
B33re03woN WTDHURT TFedwe 1 T g o) ?
11)§of49+20% of 130 =7+ 49 a) 0.005 b) 0.05
a) 18 b) 15 ) 0.2 d) 0.02
) 12 d) 121
2) If125% of x is 100, then x is :
12) 35% of? == of 48 + 62 a) 400 b) 125
a) 280 b) 245 980 4) Laf
c) 265 d) 230
3)) Whatis 20% of 25% of 3007
13) 7% of 6144 = 2 % X 245,76 D3 LIk
a) 16 b) 20 c) 150 d) 60
c) B d) 10
4) ) If three-fifth of sixty per cent of a number is
14) One O fifth percent of 520 is: ST
a) 0.104 b) 1.04 20w Bosdad ©TISBO DBTe Bwed ertd 36
©) 104 d) 104 8NGY, Boss,abi BoHBNO?
15) 5% of (25% of Rs. 1600) is : 278 by28
a) Rs.5 b) Rs. 17.50 £) 100 4} 80
a) Rs.20 d) Rs. 25
5)The time duration of 1 hour 45 minutes is
16) 13937.869 + 199.54 + 15% of 201 = ? Whay peneerof & dag?
c) 80 d) 100 a)8.3 % b) 8.24 %
€)7.218% d)7.292% Hage |
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6)In a big garden 60% of the trees are coconut
trees, 25% of the number of coconut trees are
mango trees and 20% of the number of mango
trees are apple trees. If the number of apple
trees are 1500, then the number of trees in the
garden is

BRg sVTRBO 60% DTNV SoNI ST,
25% BoNS DTNRWD eI Do DD 20%
SIS DT Feew abTriwd. BFeew SHTriv Fosd;

1500 &AZT, WEARBODS oY Josd,ab)

BoRDHLAAO?
2) 51000  b) 45000
) 48000  d) 50000

7) 72% of 25 students are good in mathematics.

How many are not good in mathematics?

25 AR BERvYQ 72% reddzol BO vdeabaond.
oz, D00 Red33 e N 3dAN3L?

a)8
)6

b) 7
d)5

8) A football team won 10 matches out of the
total number of matches they played. If their
win percentage was 40, then how many matches

did they play in all?

200 PR O BoBF) OTD BBT wE), 5ocsérw
83 10 aﬁodﬁﬁvﬁg‘ n08. ©3dd nfwdd

TesmoTd 40 esﬂrgd, OID  WwEY, caaig_,

BoBNYRY, BBWIT?
a) 25 b)24
c) 28 d) 30

9) If Priya has Rs. 600 left after spending 75%
of her money, how much did she have in the
beginning?

0850 WP TR. 75% BB, Hebr B3 JoST
600 eVPDT, ©9,BoPTO VTY WY o), AR)?

a) 2500
¢) 2800

b)2400
d) 3200

10) Mr. X, Spends 69% of his salary. He can save
Rs 186 on salary. What was his salary per day?

Mr. X, o330 Jowvd 69% e Serd30.

ToYa 186 Temadd LVPTVBIW. BT DT,

Fowy omy?
2)600 b) 200
c) 1200 d) 1600
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11) Mr. X, can save 31% of his salary which is Rs €)645 d) 615
600 per day. What was his expenses amount ?
DI o° o5, 33 Jowvd 31% LVPTVRD O 14) In a school 40% of the students play football
and 50% play cricket. If 18% of the students
03, 600 Tpe. TS WS B3 oR)? ; :
r B neither play football nor cricket, the percentage
a)600 b) 414 of the students playing both is :
c) 480 d) 160 Zo30b0 40% améamw PR e D) 50%
: 33t 830, 18% o'sz@Fr‘i’ub REFWeS
12) In a sale, the price of a coat was reduced by -
25% if a person paid Rs 90 for coat. What was BT §BeF 35&%6, o0RERR, BB c.’)m?@?r'{“é
its original price?
FeBTomod) BTSSR, BoDHBAO?
08B0, Bee3 T 3390 TR.NYRY, ToS3BT
a) 22% b) 8%
Breers Wb 25% 88D SedwNd. 933
" c) 40% d) 32%
Swew BT ad=?
15) If 60% of people in a city like cricket, 30%
a)90 b) 150
like football, and the remaining like other
c) 120 d) 180
games, then what percent of the people like
other games? If the total number of people is 50
13) A student must obtain 40% marks to pass.
lakhs, find the exact number who like each type
He obtains 210 and fails by 40. Find the
of game?
maximum number of marks?
JNC3O Fe.600RD) »ID §FesF, Te.300R), Sod
W), AWBF evdenrdonien 40% ©oBNYRY
PeIWeef WFIIT, VPTIDH VST BNV
3BabTed. 3D 210 NeDTF D) 40 3,
VB IDETT, Te. wid), BT Joal; 50 vFZINGT,
oD 3erTorbES. Mgk TJodfodb ©oIRYIY
33deod Oedad o) WWWIDI JwT
B0 HBANO?
Bosd. oD BoRHLBAD?
a)625 b) 635 i
Hage |
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a) 500000
¢) 125000

b) 450000
d) 300000

16) A bag contains 300 LED bulbs mixed with
three different colors which is Red, Blue, and
Green. How many of green if 19% are red and
15% are blue?

20w e 307, Aed DA BAD 202 SR
AT, werieodrt 300 ovfRd  we, Y,

BRoDVBT. 19% o) H3) 15% ded wRBOFT

o), BIY?
a) 57 b) 45
c) 198 d) 97

17) The service tax is 5% a person receives a
telephone bill amounting to Rs 525. How much

was the bill excluding to tax?

e JOrioy 5% ), B30 525 de IR3T

GeCaes Vef o) e80D@S. S0riady

BRTDBB Ve oF?
a)498.75  b) 499.75
€)499.50  d) 500

18) Aman gota 10% increase in his salary. If his
new salary is Rs. 1,54,000, find his original
salary?

w2 F30 3F Fowvdd 10% YYD,

BATD. T3 BRI Jowy de. 1,54,000, =T

R0 SeBVIRY, BoHADD?
a) 125000  b)124000
¢) 140000  d) 132000

19)Raman’s salary.is increased by 5% this year.
If his present salary is Rs.1,806, the last year's
salary was?

ToF 933 ;:Sozo?aail 8 33 5% éaiaimhci.

033 SN Jowy Te.1,806 8SNGT, 3¥A IAT

Jowy oz ?
a) Rs.1620  b) Rs.1720
¢)Rs.1520  d) Rs.1801

20) The present price of a scooter is Rs. 7,290. If
its value decreases every year by 10%, then its

value 3 years back was

7R, B0°R BRYE 23¢J Te. 7,290. ©TC SRV 33
Sa 10% Sab, 3BDATY, 3 SBENY bod 63T

SR, BorHBAD
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a) Rs. 8,000 b) Rs. 10, 500 a) 570 b) 450
c) Rs. 10,000 d) Rs. 11,500 c) 600 d) 120
21) A girl celebrating her15th birthday, she was 24) A number increased by 60% then after it is
159 cm height and having grown 6% since the reduced by 60%. what are the overall
year before. How tall was she in the previous reductions?
year? 60% Gab, 88zbaired J030 Josdadn 60% T
33 15 Je DB I, BBODADHI BN,
* @R - B@YNG. wE39 B BRSRYeD?
u3W 159 Fo oF0 BYOmY DA »odI a) 64% b) -36%
SRBOT 6% BVOmY. bR BB wsw O 0% q)64%
OR), OZTTNGR? 25) A number increased by 60% then after it is
a) 149.46 b) 149.98 reduced by 60%. what is the remaining
C) 150 d) 160 percentage?
60% Jab, 88eHalred J033 Josladn 60% TR
» T gl -l U i
22) The number decreased by 20% by gives BN 0098 Fesmomath om)?
480. What is the numbers?
0 -369
20% Oa) 3BT Fosk,oln 480 oy decvgds, Y 0% h) -86%
c) 36% d) -64%
Sosi N wregha?
a) 570 b) 450 26) when the number is first increased by 10%,
¢) 600 d) 120 then reduced by 10%. What is that numbers?
RBoadob, Sedew 10% B3 dwen, o33 10%
iy = o i 0 -
23) The number remains by 80% and the O, 8BDatNG. & Boal, GrRE?
reduced value is 120. What is the numbers?
10
Rost,0ln 80% U, LUPBT ) BBD @GR DO Hr-1%
c) 1% d) -99%
120 &"3. Soad i dre=y? Hage |
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27) A number is decreased by 10% and the 203 Rioaidab@ 25% 62%:{1dd DD 302033
resulting number is again decreased by 20%.
9,
What is the final percentage of decrease? Fdoaj’jabd?‘ 5% Sy ReanER L
Sosiabs 10% IO, 3R PTUNNBT DA FeBBoToD) B ¥ gD RYB0DT), oD HBAO?
2039033 Soaj,aln DS 20% TaD), B8BaaNG. a) decreased by 6 1/4 %
b) increased by 6%
QVB0D o3 FesGoTod) o) ? i
“ c) increased by 6 1/4 %
a) 26% b) 28% d) no change
c) 27% d) 25%
30) If the length of a rectangle is decreased by
28) Salary of a person is first increased by 20%, 50% and the breadth is increased by 80%. Then
then it is decreased by 20%. Percentage change find the % change in rectangle.
in his salary is : 2o Bab3s evday, 50% 3B Wed3B
Wy  Bsoh  Jowvdd, Sedw  20%
DD vrouadd), 80% BBABT. S033 B33
zPIoBE, Sod83 o  20% TR
% wBUSHALRY, BoRSHBAO.
3QDAMDHBE. B3I TBoVRO Feswomod
a) Decreases by - 10%
WBIBE? b)Decreases by 10%
a) 4% increased b) 20% increased <) Increases by10%
c) 8% decreased d) 4% decreased d) Ingeeases by~ 10
29) If a number is increased by 25% and the 31) A towel was 50cm broad and 100cm long,.
resulting number is decreased by 25%. then the When bleached, it was found to have lost 20% of
percentage increase or decrease finally is its length and 10% of its breadth. Find the
percentage of decreases in area?
00 BT 50cm NL DAY 100cm VTR, e’
SreBwen, ©T3 LT 20% DR VBT ORVT 10%4, 4 |
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BVRDERBDPD  B0cwodd.  BTeIBOS

QV30D FeBBoTD) BT, B0 dBAND?

a) Decreases by 28%
b) Increases by 28%
) Decreases by 29%
d) Increases by 29%

32) From a man'’s salary 25% is deducted on
house rent, 20% of the rest is deducted on
education of children and 40% of the rest is
deducted on food, still is left with Rs. 9,000. Find
the salary.

) DIFR Jowvdd 25% DI Welrichd
38Brie PJwerdBT, eved 20% D3 Y dFns,N
3B83rieeduerdd ) ewed 40% ©BDIT3

et sBBrieeduerhdd, @xde, de. 9,000.

BowYI) B0bAMD?
a) 26,000 b) 25,000
) 24,000 d) 23,000

33) A mixture of alcohol and water contains
35% alcohol by weight. 40gm of water is added
to such 100gm of mixture. What percent of

alcohol is present by weight in new mixture?

sedp,edeef DR JedI DF e Sps8DoT 35%
esedp,edoer o) BRoDDHBT. o3& 100 Mo
D3B3, 40 M0 AedR), JedJwerhBd. TR

DZHTO Be3DoB o), Teswo seip, eHLF

ADH3T?
a) 26% b) 25%
©) 23% d) 27%

34) The population of town in 10000. It
increased annually at the rate of 20% per
annum. What will be its population after 2
years?

3363 ﬁas;tsoaidom 10000. atd =vdrzomoN
20% TOBY eardwmeN BWAT. 2 IANY

030 BT BITos; oD)?

a) 12000
C) 14000

b) 14400
d) 14500

35) The population of town in 8000. It
decreased annually at the rate of 20% per
annum. What will be its population after 2

years?
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8000 3O Be3 03 IV, VD DoarszoN 20%

3030 TeadrdmeN BBDdR. 2 IBeNY

S083 0TS BRIV dR)?
a) 6200 b) 7200
C) 5200 d) 5120

36) The population of town in 10000. It
increased First year at the rate of 20% and
decreased second year 10%. What will be its
population after 2 years?

DEINT WID083,000 10000. VD ST I 20%
B30 BHAD DB VBSe [BE 10%

3BDNG. 2 SBenY Jo30 BT BIToss

&) ?
a) 11000  b) 9000
C) 10800  d) 12000

37) From 1980-1990, the population of a
country increased by 20%. From 1990-2000,
the population of the country increased by 20%.
From 2000-2010, the population of the country
increased by 20%. Then the overall increased
population (in percentage) of the country from

1980-2010 was

980-1990 Bod, Be3d wITosfadd 20% TaD),
@3N, 1990-2000 OoB, Be3B BIJoss;adw
20% O, TeNd. 2000-2010 Ood, Te3d
B3Josf,ady 20% Tad), NS, o33 1980-

2010 o8 TeId weRd BYE BITod,

(Teswomod).?
a) 60 % b) 72.2 %
c)72.8 % d) 62.8%

38) The population of a town increases every
year by 4%. If its present population is 50,000,
then after 2 years it will be

2ol BEIHT VIVosiody T3 IAE 4% TR,
BB, oBd I3 wIJododn 50,000

sNgs, 2 SAenY J08T b AHST?

a) 54,000
¢) 54,080

b) 53,900
d) 54,900

39) An epidemic broke out in a village in which
5% of the population died. Of the remaining,
20% fled out of panic. If the present population
is 4655, then the population of the village

originally was
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3

2,00 )

abe T05,cHB deend

@yBoimdhd), ¥dsd wIJodod 5% )
TSR, BD. BVLBITY, 20% BID MedAvod
LEBeedD. IS wITosdodw 4655 SNGT,

M3 w3Boss; ol Sweess?

a) 6125
¢) 5955

b) 6000
d) 5995

40) The population of a town. increases each
year by 4% of its total at the beginning of the
year. If the population on 1st January 2001 was
500000, what will be on'1st January 2004 ?

%00 Be363 BITosdaly IHEB ©880PIBY BT
e, 4% O, B3 T BB, IS0 1, 2001

Sod BITossadn 500000 sNF3, 1 IS0 2004

Both HHBE?
a) 652432 b) 562432
¢) 465223  d) 564232

41) The price of sugar was increased by 20%
and then reduced by 10%. If the reduced price is
Rs. 10.80 per Kg, find the original price of 8Kg of

sugar?

X80 YU 20% FES So3d 10% o)
38 @dedwond. 38D TUBY de. BB

10.80, 8 33 BT @[wo PSR

B0 HBAO?
a) Rs.80  b)Rs. 20
b) Rs.30  d)Rs.10

42) In an election between 2 candidates, the
candidate who gets 60% of votes polled and
second candidate got 280 votes. What was the

total votes polled in election?

2 3B NY SBDAT RSB DY, 60% IR,
333 ese,jdfav DD o8BEIe &9255&3? 280 3RV,

BBTD. WTIBDO BerIBalred we), DB

ox)?
a) 7000 b) 1400
C) 10000  d) 700

43) In an election between 2 candidates, the
candidate who gets 60% of votes polled and he
winded by 280 votes. What was the total votes

polled in election ?
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2 03 DY IBD IS TeIeSabd, 60% DIV,
B33 3 Brady 280 IRV Jor’ SBTD.

WTTB DY BenIBaes wed), DIBNW o) ?

a) 7000
C) 10000

b) 1400
d) 700

44) In an election between 2 candidates, 10% of
votes were declared invalid. The first candidate
got 1800 majority votes which is 60% of valid
votes. What was the total votes polled in
election ?

2 odBnY IDIZ  wesEabd, 10%
BV, B0 oth FeedBUIdD. STV
o3 Oray 1800 BRI IRV, IBBD,
©wodd 60% Sex BHINW. WIBHahY

dendsard wE), DINWD od)?

a) 7000
C) 10000

b) 1400
d) 700

45) 3 candidates contested an election and
received 7000, 5000, 8000 votes respectively.
What % of the total votes did the winning

candidates?

3 YD WTIBDY IJBED  FIbaeN
7000, 5000, 8000 DIrY), ITITD. IBe3

wz;ts&)rriw wey) DIV Feswo oad)?

a) 10% b) 40% C)20%d) 15%

46) At an election there were two candidates. A
candidate got 38% of votes and lost by 7200

number of votes. The total number of valid votes

were

20T WJSBDY VWD WP DERIZD. 22
i Brain 38% DIV, SITD DA 7200

D3RLord Jeedd. WEY, a:‘o‘.-;aiZs D3 aﬁoan’?s

a) 16200
¢) 30000

b) 13000
d) 13800

47) In an election, a candidate secures 40% of
the votes but is defeated by the only other
candidate by a majority of 298 votes. Find the

total number of votes recorded.

WoeSBAhY, Wy wIBray 40% DIAYRY
NPDzeN BB @33 ©F,;8 @asé&)scmod 298
DINY WBDI3DB Ri@ﬁ@ﬁit?a@gid). (apENoP]a)

e, BV Boal, 00, BoThRBD.
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a) 1470 b) 1580 Jdosl; 104000 NS, exiBrod BTN
c) 1530 d) 1490

Beroealed Sres Sh3nv Joak:
48) In an election between two candidates, the a) 56560 b) 56506
candidate getting 60% of the votes polled, is c) 56056 d) 56650
elected by a majority of 14,000 votes. The
number of votes polled by the winning 50) In a college election a candidate secured
candidate is 62% of the votes and is elected by a margin of
Q) D EJEJ?@FWJ SIS adgmﬁﬁoj)ejn, 60% 144 votes. The total number of votes polled is:

sodery  WeIBabed) e Bradn  62%
DBV, BT oy Braly 14,000 DIAY ° %0
2RIBB WIALBTIHZT. eSO DIV IB3D DB 144 D3nY w333

2]

a) 42,000 b) 28,000 o
c) 46,000 d) 32,000 2) 1200 b) 925

c) 800 d) 600
49) In an assembly election, a candidate got
55% of the total valid votes. 2% of the total 51) A's salary is 50% more than that of B. Then
votes were declared invalid. If the total number B's salary is less than that of A by
of voters is 104000, then the number of valid A b Se35D B Rod 50% 332&12’. 638 B 6
votes polled in favors of the candidate is:
008 WRBBDY, By Wk IR, 33T A Nod 8BS I
DINYO 55% NOIBh. wey, danvg 20 - D 331/4% 0) 2l

)44 1/2 % d)331/3%
VA0 Q0 FeLATLIANRD. WY, BWTT
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52) If the salary of Manoj is 40% less than that a) 30% b) 40%
of Subhash, then by how much percentage is the c) 35% d) 20%
salary of Subhash more than that of Manoj?
DIneF3 o) Deahod 40% 55) A’s income is 150% more than B’s. by how

much percent is B's income less than A’s?
BBDABT, DYIEN Jowvy) DIeeFNod

A S 8woodbdd B Nod 150% ed). B ob esweadd)
o), Feswe Ted)?

A NoB o) Feswe 3B aNE?

a) 200/3% b) 60%

a) 45% b) 50%
c) 65% d) 265/4 %

c) 60% d) 70%

53) If A’s salary is 20% less than B’s salary, by 56) On Sunday 845 people went to the Zoo. On

how much percent is B’s'salary'more than A's? Monday only 169 people went. What is the

A ob Be3IY B ab Jowwd, 03 20% 3BSHNGT, percent decrease in the people visiting the Zoo
on Monday?

B o Bow¥ A Nod o), Tesws &ed)?

Pob@ed 845 Dod ymewcdd, STILZD.
a) 24% b) 25%

Aeexdmed  Fedo 169 I @eeNZD.
c) 23% d) 27% .

Tpedhmed  Ayrmewodd, e dedd  wIT
54) If the price of sugar is raised by 25%, find by

B FedTomod) o), 3BWNE?
how much percent a housewife should reduce =
her consumption of sugar so as not to increase a) 10% b) 28%
her expenditure. c) 72% d) 80%
38,00b BB 25% B ATT, w2 Myded ST,

57) In a fruit basket, apples and oranges are in
mH o uinalsh S5 Spas), Bt o) the ratio 2 : 3. What is the percentage of apples
33330, BOD IeBYed  D0WBRY, In the basket?

BoRHBALO.
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55-&;5 ws%qj_)ej, Fenn) D) 3BYNAY T3 60) If A exceeds B by 60% and B is less than C by
20%, then A: Cis

2 : 3. 20e3 0D Jeenriy Feswomodh o) ?
A60% O=), B o) hedB3 =) BCHod 20%

a) 43% b) 45%
¢) 44% d) 40% 3,08 3BT, A: C 8N
2)8: 5 b) 4:5

). 25:.32 d) 32: 25

58) If 20% of a certain number is 80 then what

is the 30 % of that number?

200 .ClE?)Fag_i xSosstoiJ 20% 80 eﬁgd es aioaifsoi)
30% oa)?

a) 180 b) 240
C) 160 D) 120

59) A box has 100 blue balls, 50 red balls, 50
black balls. 25% of blue balls and' 50% of red
balls are taken away. Percentage of black balls
at present is

womd BB 100 e 2Botdrisd, 50 8o
doddriw, 50 8z, yodriod. 25% Qed
dodrw DR 50% Boxd) BornvRy
IrddeyYoardd. IW3 8z, Poddnv

336 Te

a)331/3%  b)40%
¢) 50% d) 25%
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